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21. toothpaste ractory - Htubes
_ingredients. Supply possible
LIZ.'Ss Hz0 32 .000.0003 512,000
1259 obrasiws %3, 000,00 9 520,000
z.509 Huoride 1,250,000 g 500,000
5.00 g foaming aqert 2,600,000 4 520,000
L¥59 mint 200,000 g 1Y, 230

= 'L[ou could Mmake o MoXximum o‘? e, 2% tubes O'P
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=The limi’ring reactont is mint ‘Flo.uorl'ngs YyoL would wn
ouk o the mint ofter malding 114,28k tuhe>

- e ouwsr ingredients

C—

originod amount . amourtused = + uHourr
_infactony . el
H=0 32,000,000 g i (uz.'Sg xUd,286) = 24,85%.25 9-
abrasiws u5,0000009 . = (125 x 114,2%6) = 504,250 g
Huoni®e |.z50.oodg ~( 2.509 % 114,2%0) = QLM.Z‘Z'SS
fooitd  5,,00.000g - (5.009 xud.286) = 2,028 5%
cizrtgl Z00,000q - (1759 x (14,2%) = Og,,



